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I 2x mwn: figuring the debt of nnmt 07y who (falsely) testified to a divorce and debt of nana
a  Reality check: he may end up owing her the 1213 (= the 1"y couldn’t deprive him the full amount)
b Therefore: we estimate what his present value is, as per what someone would pay against the possi-
bility that she would become widowed or divorced (and would collect n2mn3) against chances that
she would predecease him and he would inherit her nan>
¢ Question: how do we assess (we will follow »"w7’s favored approach)?
i n”rYa3,ie what someone would pay for his interest (including current income from »%n »o21)
it awwIn 92 12 71 by the woman; i.e. total value of n21m5 minus her interest
iii 9”1 the woman but only the nam> (don’t figure in »%n ro21)
IT 3% mwn: figuring debt of 1"y, who (falsely) testified to a debt due in 30 days, which is really due in 10 years
a  Reality check: in any case, the money was due
b Therefore: we estimate what someone would pay to hold that amount for 10 years minus 30 days
I  Backdoor &2 HRnw’s ruling about nvnw cancelling a 10-year debt
a  Version #1: nonw cancels the debt, even though v. 1 doesn’t apply yet, it will apply after nv'nw is over
i Challenge (83775 77): our mwn; if debt would be cancelled, 1"y would’'ve deprived n”ya of entire amount
ii ~ Answer: perhaps it was a debt with a “endaround”, e.g. with a pawn or 7725 YmA VY 01N
b Version #2: nomnw does not cancel the debt; as v. 1 doesn’t currently apply
i Support (57): our mwn
ii  Block: perhaps in our case, the debt was worked with an “endaround” as above
IV Tangential rulings related to nv’nw and conditions that abrogate na5n ("n71N2 M5V Ny NINN”)
a  YNnv: if someone makes a loan on condition that n’»7aw won’t cancel it — n’y*aw cancels it
i Challenge: 5®1nw holds that 7112 215w n”y ninn — the condition is valid
1 Source: dispute Y®1nw/27 in re:selling an item on condition that the buyer has no claim of nxrnx:
(a) Sx1m2: he has no claim of nknR (i.e. condition is valid)
2 Answer (pap 77): “there is no nR1WR” — invalid; if he states “on condition that you don’t claim nxnx” — valid
(a) Similarly: if he states n>»awa nvPVYN RYY 1Y — valid; but N»»aw »»onYN RYW ™ - invalid
b w7771 aloan, unless indicated otherwise, may not be collected before 30 days (minimum)
i n7237(to 27): this should only apply to 70wa m5n (no one would trouble writing a 1vw for <30); not 2"y mn
1 Response: X»n " ruled that it applies to either (supporting xn»11)
2 Source (mnp *1): v. 2 — nvonwn mv is superfluous; refers to “mini-nvnw” of 30 days during which v x>
V  two rulings where X113 "1 challenged 17's ruling, quoted by nT’ 27 — and ruling was defended
a  Opening garment’s neck hold on naw — a»n
i challenge: uncorking barrel) [defense: uncorking vs. making new hole]
b 3 xnY of »awrw on with a bit of wine and color is wine that fell into mpn — not %10a
i challenge: yax 'n) [defense: yax »n are called “colored water”; this is called “diluted wine]
1 Challenge: ®»n "1 reported that such a mpn was invalid!
2 Na7that follows p"n (7"t mxnpn) who, by implication, would rule that if 3 05 fell in, even 1 nRIN3 — 00
(a) But: a1 followed 1721 (ibid) who has the consequence solely dependent on the color
(b) Challenge: 9™ was unsure if the mwn reads “minus 2197p” or not
(c) Answer: 11 was sure that it did = p"n would disagree with 17's ruling
(i) Note: 9oy 17 was equally sure — that 11 did not read 2307p 7on and 17’s ruling is %20 a1
¢ Tangential ruling, also 717’ 27 in 27's name, in re 3 PN of P2RWY wn falling into a Mpn
i If: abarrel with 3 pnY fell into the sea, and someone is Y210 on that spot, still Xnv
1 Reason: we're concerned that he was %210 in 3 pn% of P23RW D0 in one spot
2 Support: Rn1 - if a barrel of 3 1% of wine fell into Y110 ), if someone is 9210 there - still kno
(a) Similarly: if (after he went in) a loaf of nmyn fell there — it is now Xnv
(b) wrrm man had nkmvo npn; but loaf had nnv npm yet we render it Xnv as a result
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